02335 R EHR

7= miiEA

M
4N,

I
THZBEENAE,
MELRE N ZEEIAE,

BEETR :

J = ZRiIE%

L = RiIRF B R 181
M = #2124

OF: {:3-9
2) AR
3) RimIKF 81 R 1R4e

%
E \02335

© norelem www.norelem.com



02335 R EHR

A-A
5 (I—
= T\
o) B - \
) W ]
F gA R
7B b
K 1]
= i i =
_:::I:::_l b
[} F: ] L}
| | L
A [ ) =
' ]
o == T | - |
m = - 2 WA
O hos
- n
- { ]
; 1 =
||
3
02335-06039 | 28|14 33|39 10| 14,1 | 22 | M6 M6x12 M6x16 4 | 4000 10 22
02335-08052 | 35|19 42|52 15| 18,8 | 28,5 | M8 M8x16 M8x20 5 | 6000 10 27
02335-12070  |50|26 60|70 17| 285 | 42 | M12 | Mi2x24 M12x30 | M5x12 | 8 | 9000 15 30
02335-16080 | 60|33 70|80 22| 265 | 47 | M16 | M16x32 M12x30 | M5x15 | 10 | 9000 15 35

© norelem www.norelem.com



02335 ER i b

© norelem www.norelem.com



